CHM151 Quiz3a 25 Pts Fall 2007 Name: /L< ey/

SHOW ALL WORK TO RECEIVE CREDIT.
MOLAR MASSES: H 1.008, C 12.01, O 16.00, Na22.99, P 3097, S 32.06, Cl 3545,

Ca 40.08, Ba 137.3
Avogadro’s number: 6.02 x 10%/mol

1. (6 Pts) Determine the molar mass of each of the following:

a. Cag(PO4)2 b. NazSO4
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2. (4 Pts) How many moles are there in 25.45 g of water?
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3. (4 Pts) A chemical reaction calls for 3.00 moles of calcium chloride. How many grams of

calcmm chloride should be used?
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4. (5Pts) A compound consists of 31.1% sulfur and 68.9% chlorine by mass. Determine its

empirical formula. |} (o | OO o5,
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5. 2H;PO4(aq) + 3Ba(OH), — 6H,O(l) + Bas(PO4)(aq)
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(3 Pts) How many moles of phosphoric acid would be required to neutralize 3.45 moles of
barlum hydroxide? S——
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b. (3 Pts) How many moles of water are produced by the amounts used in 5a?
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CHM151 Quiz 3b 25 Pts Fall 2007 Name: KW
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SHOW ALL WORK TO RECEIVE CREDIT.
MOLAR MASSES: H 1.008, C 12.01, O 16.00, Na 22.99, P 30.97, S 32.06, CI 3545,

Ca 40.08, Ba137.3
Avogadro’s number: 6.02 x 10%/mol

1. (6 Pts) Determine the molar mass of each of the following:

a. Ba3(PO4)2 b. CaSO4 f‘/ 6b
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2. (4 Pts) How many moles ar€ there 1;1 g of water? ‘
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3. (4 Pts) A chemical reaction calls for 5.00 moles of calcium chloride. How many grams of
calcium chﬂ:lgie should be used? £z Obmo ’ ’ 159 aCﬂu g C c Ca[/QL
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4. (5 Pts) A compound consists of 31.1% sulfur and 68.9% chlorine by mass. Determine its
empirical formula. U.Se /b by
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5. 2H3PO4(aq) + 3Ba(OH), — 6HO() + Bas(POs)(aq)
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a. (3 Pts) How many moles of phosphoric acid would be required to neutralize 6.85 moles of
barium hydroxide?

aggmu)l{lmﬂ,mi\ = 7§7Nol H3P09

| 2molptepy,

b. (3 Pts) How many moles of water are produced by the amounts used i in S5a?
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